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1. The relation R = {(1, 1), (2, 2), (3. 3), (1, 2) (2, 3.), AL
(1, 30} onset A = {1, 2. 3} is; y=l+b+b +. . tom
{n}lmﬂu‘.ﬁvehutnutsymn‘lne_tri: R T I Ty
fb}reﬂm.lm‘tnuthu!s.dwe. then x, v, £ are in;
{c]s_-,'l!lmeh'm and tl:nnsﬂnm_ N {a) AP {b) GP
(d} netther symmetric nor transitive. (¢} HF (d} none of these
2. N R is a relation on & finite set having ‘n’ R 7 e bein AP and hy, ha, ... hu be i
elements, then the numbers ufr_elnl:i.unsun Als; s Hp_a[f::”:h::n;mﬂl:n =hm=3.1'§ldl;nl:h¢'i5; ™
[a) 2n (b) 2* {a)2 (b} 3
{chn? {d) n* = = |= =0)s (d) 6
3. Let R be a reflexive rela e Ifa; b, c are in GF, then the equations e + oby +
having n-elements and = -t=0 and dx* + 2ex + f = 0 have a common root if
pairs in B Then; d/a, e/f, ffcarein;
(almzn (b) GP
(ehm=mn {d) none of these
oy gts of the equation
4 [f[i W3 31, then the mots of
2 Kk’ equal to;
reals then the orde:
(a) (o, 3}
{eh (-3, 0 2a. where 2° -b=
5  If|zj<v2-N w4+
{a) less than 1 d) +6 + 420
{e} ¥2 -1 13. The quadrabic equation whose roots are AM. and
& Bl = % e e ot gt e '!Je;twamthe:rmtsnftheequxtmnu‘+hx+:=n
complex mumber -1 + 4z lies on a; b S E
{_B.:I]J.I:I.E fh]'i:il"ﬂlﬂ {B.'! abx’ +{|.'l_ +a:::tx+|:1: =0
{c} parabola (d}) none of these {b) 2abx® +(b° +4ack + 2bc =0
7. If log a.a*" and kg, x are in G.P. then 'x’ is {c) 2abx® +(b” +aclx+bhe =0
equal to; {d) none of these
(a) bog, (log, a)
(b} log, (g, a)+log, kg, b) i4. Thevaleof B+ /8 +I1.|E+I1.|S+2;; is;
{c) -log, kg, b {a) 10 (k)6
(d) log, log, b)- Iog, (log, a) e}t tel4
S Eabigh s bedn AwEnd (W] < 1o [ e uaFs | 8 B -2ieniB il =1, then the valie nf
x" - 2x"cosnll + | 15 equal tog
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(a) cos2nd p-p' p+p'
(b) sin200 ® ®)
(cho P .
{d} some real number other than o (e) _['E':':'T] (d) ﬁ
J
s EL!.J‘EERTndE-'-h-'-E:n‘ Thep Hhn spmlertin 23. The number of ways in which 'n’ distinct objects
equation 4ax” + 3bx + 2c = 0 has; can be put into two different boxes so that no box
(a) one positive and one negative roots. Temains emply, is;
(b) imaginary roots. (a) 2* -1 (Bin2—1
(c) real roots. {e)=-2 (dins—2
e | 4. The coefficient of x° in the expression of
17, The number of ways P 'Y i
letters in 2 letter boxes is -'{_-n}Ba () 84
{a)as {c) 88 (d) o2
(e)7? *C,."C,."C, arein AP, then ‘0’ is equal to;
18. Thevaleof 1°C +3°.C} ' ;
(a) ain —12*% +n-2°" :
(e} nin —1}-2°* {d of thes8t | 1 ¢ or order nxn, then adj(adj
19. H the expressio | AI*" A
coefficients of ‘x d
then ‘m’ is; )| Al A
(a) b
{ch1z " is;
20. If gifix))= sinx| and HE 2+n 5-n
(a) Axjsin’ x. gfx)=4l n —n]
(b) fx)=sinx. gx)= x| 3t (4F
d of these
(©) fix)=, gix)=sinyx m[i‘ 1—n'] EeK e
(d}'f and °g' cannot be determined. 28. If w be one of the roots of unity, then
21,  The sum of ‘n’ terms of the series I o &
P I w 1 ef|=
2 4 8 16 el
(a)om-n-1 (b)1—2= .
{ehn+n™ -1 (d} 2* -1 fa) w f:} [
23, [f the equations g ()3
x'+pr+g="0and x* +p'x+q"=0 have a
common root, then it is equal to; e K
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30. I A and B are two matrices such that AB = Bmd

3i. The circle whose equati

1+sn°8 cos'@  4sindd (c) ab/z (d) none of these
BeB="and | sin®8  licos®  Ssnd@ |=0 36. An ellipse 15 described by using an endless string
I which 1s passed over two pins. If the axes are & cm

in® & 8 l+4si
g s i and gem, then necessary length of the string and

then @ is equal to; the distance between the pins respectively 1n ems,
(S m X, I b

23" 74 244 {a)6. 245 (k) 6. 45
(e } E IZ!I: {d) none of these () 4. 2.5 {d) none of these

37- U ‘e and e, are the eccentricities of the hyperbolas

— ——xy=ctand x* — y* = ¢%, then ¢* + ¢ isequal to;

(I EE (k) 4

Aed (d) &

38. The comb eguation of the asymptotes of the
hyperbola 2x= + 5xv + 2y + 4x + v = 3

BA=A thenA® + B* =
{a) 2AB
(chbA+B

and x” +¥ +c’ —2hy

externally if; =8 2x? + 51y +Jr=+4_x+5v+:z
{_H.J$+—=L: !

(. _ 5 fthes
© o Tha ek ! e = If: L I ax — 5, then Pix)is

{l:}mehesmsﬁe TR i . el 10 " ifis not one-one

(i} each lies outside - 15 not onto

Theﬂnfﬂmmmu]tnﬁepmhulnf: fat 3

Bx ing slope 1 1s; o K EM=, X2 x

(alx+y+b=0 (bjx—-y—6=0 ol h._i 0. y ;:u‘ ittt

@)z =y 6-0 fDxey-bGan i T ot e 336

Thelingy:m+:isat.mgenttuihepambala {a) n£(0.1] (b} 1 e 1o}

Weaxifm=1; i

(@)1 (b) 2 {e) me(—=.0) (din=0

(ch3 idl4 41. Let g(x) be the inverse of the function fix) and
35 Fi&ﬁ\:l.l'iﬂh]Emil’ltmﬂ'lEEthm f"‘;]:%_ Then g'{[}i_r,equ.] ta;

f.;+_§;_=|wiﬂ;,q,-!.'a5themnjmu.tiiﬂlmthe ]:I |

i

:!:I:l!.til'l:ll.l.l:l:l value of the area of the triangle AP"A (a) 1+(gix))’ (b) 1+{fx)

LH §

() ab (b) 2ab {c) L+igx)) (d) 1+(fixy)
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46.

47-

1f fix) = cot™ {%] thicn YY) eqals;

{a) -1 (b1

(chlog 2 (d)-logz

If fix)=log (In(x)). then Mixj=atx=¢ is;
{a)e (h]—e

(ches (e

ek
1f Fix) = ;_’L {47 —2F{t)de, then F'[4) equals;

OF=
©%
I x"y* = (x+ ¥, then |
{a) {

(e) =
¥

(a)1

(cho

Let (x) = x — [x], fore every real number x, where

49 The valvw: of B Grikegral Tlugl x4 entx) il
]

is;
{a) nlog2 {b] —nlog2
{c) zlog3 {d) none of these

50. If f{x) is a function satisfyving 1i}+:=EIJ=U for

all non-zero x, then I fixidx equals;

{ﬂ__.-;hﬂ+m5ecﬂ (b} sn® &
Te) cosec™ @ (d) none of these

The order and degree the differential equation of
all tangent lines to the parabola x2 = gy 1s;

(b
{d) both (a) and (e}

54- W d=xdxb)+ wbx&+Ac=d)and [@ Ea]=%_

i
[x] is integral part of "x". Then jl{:klx 1s; th!.'FI+!F+_1= B
L {a) Ba(d+b+2) (b} dig+b+8)
fa)1 (b)2 T
8@ +b d of these
(&)o (d) 1/2 {c) 8@ +b+d) {d) none
= e 2 55. If the vector —i+j—k bisects the angle between
48, If]|=J-hExlndIL=dex,+]:a1: the vector ¢ and the vector 31+ 4], then the unit
£ 1 - - » - &
@L=1 (b) oL =1, uecl.ulrmﬂ'reﬂlmctmnnfc is; I
(c) I, =21y (d) none of these (@) 0 Nn+10j+2k  (b) el 11 =107+ 2k)
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61.

Jow . 1 - 62. The smallest angle of the trnangle whose sides are
{:]—Eumm]-zh [&}—E[lll+lﬂj+1h T
If 3.b are unit vectors such that the vector {n_!li [b}E
7435 T perpendivales to 75— 55 wd 5 - b 3 : 5
perpendicalar to 73 - 26, then the angle batween {E}E {d) none of these
d and b is;
x 63- _[Ilizig'\'.xl— fixigx)] dx is equal to;
(a) B 1] 3 fx)
{a) — (b) fiximx)—fixiex)
e X = = == W)
3 l_'.ﬂ_;hl';{ﬂ— Pixlgix) (d) fxigix)+ Pixeix)
The mrﬁli:rﬂ Furgs 63. e’ +1)" dx isequalto;
7 . 8] log(x* +1)+C ib) — hgl': +1+C
{a) E[E\l : i .
9 A3 | ; (T e e rehidpone of these
IZI:'j "
(14 ] F

PiBi= |. then P{A
(a) 1 —P{A.I'E]

- none of these
A coin is tossed (m
probability of at least ‘m-eonsecfive hears i . L
n+2 n+l (a1 (b)o
(a) o= (b} gl c)e {d) none of these
@it I £y i o s 67. Fvaluate the following limits Emi{cos x 7™
llll a4l
) {a)o ib)1
Let ABC be a tnangle such  that {c)-1 (d) none of these
FA=45". sB=75". then a +c42 is equal to; .
=2 )b 68. I (l+xF=C +Cx+Cx*+..+Cx" then
{c) 2h (d)—b € +C +....+ C; is equal tog
In any triangle ABC, if sin® A+ sinB=sin®C () 2 L2
then the triangle is; (e 2ol @ S5 V’“"
{a) equilateral (b) right-angled Nn!f
(o) isosceles {d) none of these
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69. If the radms of the circameircle of an 1sosceles
triangle PQR is equal to PQ = (=PR), then the
angle P is;

" b3
n Ix
(c) 5 fd) 5
70. ldentify the corve v* — x* + 2ax — 1=
(a) pair of straight line (k) arcle
(c) ellipse {d} parabola e

e

71.  The value of tan™' (I}+smn™

(a) &
" +0
{c) y

(b} e* =1
(d) bopg. 6

78. Ilhg[i +l}l: = fix)log(l + x)+gixx’ +Lx+c;
1

@ =1 (b) ztx)=logx
{e)L=1 {d) none of these
_;g.shﬂmgeufthffmﬁnn‘; sm2x -cos2x| ;
(@) f=x, ) (b) (. 4)
= He)[-17] (d) [-1. 1]

@ 3
Ep =—a+b+cHa+bk+ck o +bx” +ck)
{E}T

72.  Period of function f{x) o 15 complex cube
(a) n
{eh1 i

73. Domain of the fun
(a) {—=, 0]

(e} (0, =)

74.  The digit of unit p
(a)3
(ed7 0dd One Out;

75.  The number of values of ‘x" in the interval [0, 5] {a) MATHS (b} TRIGONOMETRY
antintyine the exguntitan () GEOMETRY (1) ALGEBRA
Jsm’x-Tsinx+2=0; #3. Odd One Out;

(a)s (b)& {a) ARC (b) TANGENT
(cho (d)a {c) DIAGONAL {d) DIAMETER

76. The solution of the trigonometric equation 84. INFLUENZA : VIRUS :: TYPHOID: ?
1-costh=sm# /2 sin® where 6 =7 {a) BACILLUS {b) PARASITE
(a)A=kr kel (b} B=2kn kel {c) PROTOZOA {d) BACTERIA
(edo=2kn+ni2 {d} none of these 85. What is the angle between hour hand and minute

hand at 10 past 5 ?

7. [f:—y=-:"’, given ¥ = 0 when x=5 then the value {a) go~ (b} os®

o B d
oW By e {ehg (d) 1000
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86. I number of boys m a class 15 3 times the number 94. A bag contains coin of 25 paise, 50 paise and 1
of girls which cannot be the total mumber of rupees and the sum of money 5 rupees 35 then
student; find the total number of comns of each type;

() 44 (b) 48 (a) 20 (b) 25
(ch g2 (d) 40 {e) 30 (d) 33

8~.  If 2 workers complete work in 10 days and 15 days 95. If 4% day after 6% January is SATURDAY then
respectively then m how many days will they what will be the day on 1" December in the
complete the work topether; PTreviois Year;

(a) b (bl 5 {a) THURSDAY (] FRIDAY
ch7 id) g {c) SATURDAY (d) SUNDAY

88. The next term of the series, 7, 13, 25, 49; “of—If Curd : Milk then which of the following show
(a) 0f similar relationship;

(chos -fa) clot : Blood {b) Flow : River

Bo:. Hiw sy i (¢} Decant - Wine {d) Coffee : Brew
word COMPUTERS & A man 15 facing south be turns 135° anticlockwise
letters between them han 1800 dockwise. How in which direction is he
alphabet:

{a)1
(eha

g In what ratis water smf  cosd
ek b ek e 6 cost sinB|=0
{.3}2-5‘ fosf —sm@  cos@
(chi:5

91. How much
eoincides evy
(a) 90 minute

H
31—
=) 11
92. If x=2++3 andxy = 1 than find the value of o9. A wheel has circumference 4$m and it makes 7
X ¥ ; :
+ 1s; hat ds then find the f
m E—_-q"; Eufh?M4mn en speed of car in
(a)1 (hlo {a) 27 (b) b7
)2 () none of these {c)ar (d) 47

93. Two trains start from station A at o : 00 am and 8 100. The sum of the coefficient of all the integral
: 30 am with the speed of 00 km /h and 80 km/h powers of ‘x’ i.nl‘_heexpa_usinnufﬂ+l~f;]" 15
respectively then how much distance from station =
A thin Bk tisa will st trigetha: A et (B) 3o —1
(a) 270 km {b) 820 km © 1113“ -1 @ L= 1)

(c) 360 km (d) 400 km : :
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104.

101, j'

dx i al to;
xx" + 1) ORI
{a) lhg[ x® ]+C ﬂl}lhgi‘:““}-f
n 1"+l n )t

(c) hg{ "'I]u: () vt uf Ui

1+

102, In order that a relation R defimed on a non-empty

set A 1s an equivalence relation, it is sufficient, if
R =

w03 If §x)= [E

X=0k =
{b} neither differentia

(e} dscontinuous e

There are
each. The n

(a) ne
(ed(p+1T -1
1 2 2
105. f A=|2 2 -2| i5 a matnx satisfving the
i 2 b

equation AA = ol, where [ 15 3=3 identity matrix,
then the a + b is equal to;

(a) -3 (k)3

(c)2 {d)1

106, If 7 is a complex number having least absolute

valueis [z—2 + 2i] =1, thenz =

{n}l[]—;%]il—ij rh}{z—-‘:}?]um

{:][z+%]:; - Ld}{l+%}[l +i)

1oy, A number is selected from a first 120 natural

number. Then the probability that the number 1=
divisible by 5 or 15 s;

(a)1fs (b} 1/6

{c) 23/120 (d} 1/8

108. Inverse of which function 15 exist;

(=) ﬂxj:ﬂL forallzeR
= -x
{E—};ﬂ:}: ¥ brallxeR
{:] fix)=x" forallxz0
{d) §x)=x" orallx=0
—'%c-lﬂl—;: 16 = 2 then value of 8 equal to;

(T e——re—l n
] Y nx + —
4

m said that, “he is the
of my mother”. How is that

son_of T )
man related to woman;
{a) Brother

{c) Uncle

{b) Cousin
{d) None of these

112. Pointing to a man, Nilesh said that, “his wife 1=

the danghter of my uncle”. How is Nilesh related
to that man;

(a) Father
() Son-in-law

{b) Father-in-law
{d) none of these

113. A drawn contains 5 brown socks and 4 blue socks

well mixed. A man reaches the drawer and pulls
out 2 shocks at random. What 15 the probability
that they match ?

{a) 4/0 (b} 58

(e} 5/0 (d)7f12
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1i4. The eguatwn of the curve satisfying the
differential equation v.(x* + i) = oky, passing
through the point (o, 1) and having slope of
tangent at x=0 as 3 is;
(aly=x*+3x 42
(edy=x+3x+1

(bly=x'-gx-2

(diy=x"+3x-1

115. The area of the guadrlateral formed by
tangents at the end-points of latustacta to

ellipse =+ ¥ _1is;
g g ¥

the
the

B
{ch isq. units

2
116. A problem in Mathefs
students A, B, C and I thi
of solving the probla
Probability that the pa

158
(a) 168
163
168

117. WO is the ap

{ch

120, It was Sunday on January 1, 2006. What was the
day of the week on Jannary 1, 2010 7

of triangle OPQ) is; :
(a) (-g. £} b { S
{chi-f -g) {d) none of these

118. A man 15 known to speak truth 3 ot of 4 times.
He throws of die and report that it 1s 6. Then find
the probability that it is actually a 6;
{a)1fg (b) 5/8
(cha/8 (d)1/6

1194 watch which gains uniformly = 2 minutes low at
noon on Monday and s 4 minutes 48 seconds fast
at 3 p.m. on the following Monday. When was it
correct ?

(a) 2 p.m. on Tuesday
(b} 2 p.m. on Wednesday

(c) 3 p.m. on Thursday
{d} 1 p.m. on Fruday

(a) Sunday (b} Saturday
{c) Friday (d) Wednesday
S
ANSWERS

0l.a joz2. b 03.a |04 b |O3.8
O8.a JoF.a |oB.c |09.d |10 =&
s 11.d Jiz. b 13.b |1a.d [13. b
1. c [17.d 18.d |19.c [20.a
Fl.c |22.c 23.c_|?a.c_|23.c
2o0.c |27.d 28.c |?9.c |30.c
31.c [32. b 33.b |34.a [33.m
3g0d j37.b 38.a |39.b |40.=&
4l.c jaz. a 43.d |44 .8 |43 &
: 8.8 [30.d

5%.d

B0.c

63 b

70

73.b

BO. &

23.b

90.c

93
100. d
104.c |10%. &

[109.c {110.c
111 bj112. b 113 & [114 115.d
110.c [117.d  |118 c [119.b |120c
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